Interprtet

ID Titel Interpret | Hauptinterpret | Interpret | Urheber | Funktion | Industrie-Nummer | NUMMER NAME JAHR Unligue
3.574.111 | Bruttosozialprodukt | Baierle, R. false false true 11%1%/{81? ggl; glsgu?’dldoé)z 15 Bruttosozialprodukt 409.052
6.122.142 | Bruttosozialprodukt I]{Se ?iﬁf}ii’d false false true 1%%%«612(?3?1[1)372%%3) 30 Bruttosozialprodukt 409.053
1.972.997 | Bruttosozialprodukt I?e aifhrel;?d false false true Ario(lg;]()) 51 gg g) iz 8 Bruttosozialprodukt | 1983 | 409.053
4.638.060 | Bruttosozialprodukt I?e E;Lelrleaild false false true Ario(lglsl()) 51 gg g) 551 20 Bruttosozialprodukt 409.053
1.972.990 | Bruttosozialprodukt [ Ballin, Deff false true false Ario(lgrf]()) 51 gg g) g 8 Bruttosozialprodukt [ 1983 18.605
1.972.991 | Bruttosozialprodukt B&;;;’;S;i’ false true false Ario(lg}%]()) 51 gg 2) 315 8 Bruttosozialprodukt | 1983 38.564
6.122.140 | Bruttosozialprodukt | Dicke Lippe true true false 1%%%;&“&%372%%2) 30 Bruttosozialprodukt 89.741
1.972.992 | Bruttosozialprodukt | Fiehe, John false true false Ario(lg;[()) 51 gg g) 315 8 Bruttosozialprodukt | 1983 | 112.032
3.574.108 | Bruttosozialprodukt Fi]s)(;?; e false true false Iz%lggrla g;a g,5§u3dl ;e)z 15 Bruttosozialprodukt 113.435
3.788.798 | Bruttosozialprodukt S tﬁ:zi?ﬁlg true true false 4 GS 9% érgt((e]gr[l{a];i({g%ls) 8 Bruttosozialprodukt 126.414
4.638.059 | Bruttosozialprodukt S tgszi?lilg true true false Ario(lg}%]()) 51 gg g) 2ol 20 Bruttosozialprodukt 126.414
1.972.993 | Bruttosozialprodukt S t?ue‘zi?lilg true true false Ario(lgrfg 51 gg g) 315 8 Bruttosozialprodukt [ 1983 | 126.414
4.388.008 | Bruttosozialprodukt S t?lfzi?]ilg true true false Ario(lgRll())zll gg 5 ) g 1 Bruttosozialprodukt 126.414
1.972.998 | Bruttosozialprodukt G;;agggl ’ false false true Ario(lgff[(; 51 gg g) 315 8 Bruttosozialprodukt | 1983 | 436.544
3.788.800 | Bruttosozialprodukt | Geratsch false false true 4 GS 55 ér;t((e]g%i(;gz;la) 8 Bruttosozialprodukt 436.546
3.574.112 | Bruttosozialprodukt | Geratsch, F. false false true ?glg{grla ggl; g,5§u3dl 5)9)2 15 Bruttosozialprodukt 436.547
6.122.141 | Bruttosozialprodukt Gg;a;:;g{l, false false true 1%%%;83%%5’2%%];) 30 Bruttosozialprodukt 127.367
1.972.994 | Bruttosozialprodukt G;;f‘;g;{‘ false true false Ar 10(1]2585132;315 8 Bruttosozialprodukt | 1983 | 127.367
4.638.061 | Bruttosozialprodukt G%I;?Zficlh’ false false true Ario(lgf?]g) 51 gg g) 2ol 20 Bruttosozialprodukt 436.548
4.388.009 | Bruttosozialprodukt G%ﬁ:ﬁh' false false true Ario(l]z;}%]())éll gg ; ) 100 1 Bruttosozialprodukt 436.548
1.972.995 | Bruttosozialprodukt Kel{lje;]};off, false true false Ario(l;}f]()) 51 gg 35,) Slg 8 Bruttosozialprodukt [ 1983 | 187.157
3.788.799 | Bruttosozialprodukt Kent false false true Arr 4 GS 935 é%t?g[lf];i?g%g) 8 Bruttosozialprodukt 188.272
3.574.109 | Bruttosozialprodukt ;(}?éﬂ(ilrlg true true false lz%lfy{grla g; 85]5§u3dl (?e)z 15 Bruttosozialprodukt 194.829
3.574.110 | Bruttosozialprodukt Hasncshjllﬁ" %en false true false E(‘%lggrf g,; g,5§u3dl doe)z 15 Bruttosozialprodukt 322.016
1.972.996 | Bruttosozialprodukt Vﬁ,}inﬁzg? ’ false true false Ario(lg;[()) 51 gg g) Jiz 8 Bruttosozialprodukt | 1983 | 375.243




